b
C
‘3’60 -180=180 500 - 250 = 250 400 - 170 = 230 ﬂso - 225=1225
40-210=210  180- 90 9o 47 1707200 170 - 80= 90
280~ 140=T10 270 =120 - 150 550" (0" 500 160 - 90 = 30
380- 190=190 320 -160= 160 550 _ 10=110  150- 70- 80
Reken uit.
a b c d
350 : 5=70 490 : 7 =70 640 : 8= 30 320 : 4 =230
280 : 7="40 250 : 5=50 160 : 4= yo 40 :2=70
420 : 6 =70 360 : 6 =60 600 : 6 =100 210 : 7=130
810 : 9=90 260 : 8 =70 720 : 9= 30 450 : 9 =50
vul aan tot 1000.
a b c d
270 +730 340 + 660 225 +775 204 +796
350 +630 425 +575 125 +875 408 +592
480 +520 150 + 850 375 +625 336 + 664
140 + 860 240 + 760 435 +565 261 +739
Reken uit.
a b C d
120x 3= 360 3x20= 60 150x 2= 300 3x30= 90
120x 5= 600 3x40=120 150 x4 = 600 3 x50=150
120x 7= 840 3x60=180 150 x 6 = 900 3x70=210
120 x 9 = 1080 3x80=240 150 x 8 = 1200 3x90=270
D Welk getal moet op de lege plek?
a b C d
12=4x3 40=8 x5, 16=8x2 20=2x10
63=7x9 12=6x2 15=3x5. 18=3x 6
35=5x7 36=14x9 25=5x5 21=7x 3
24 =6x4 U8 =6x 8 35=7x5.

712=9x%x 8
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